TOYOTA

e

. -

Q +902165083786 R info@parsrot.com



Leading

Manufacturer
Company

WHY PARS STEERING
SUSPENSION PARTS

1. Having an understanding that maximizes customer satisfaction.
2. 32 years of experience on automotive spare parts industry.
3. Certificate of IS0 9001:2015

4. Factory is next to biggest port, Logistic Companies and Air Cargo
in Istanbul, Turkey

5. High-Tech Machinery, and High-Sustainable Quality
6. Just in time production with scheduled producing program.
7. Competitive and reasonable prices.

8. Fast Costum Regulations.

9. Customer-oriented operating system

0

Ferhatpaga Mahallesi 38. Sokak No: 91
Atasehir/ISTANBUL, Tiirkiye

e +90216 661 26 19

Q) +90216 661 2619

ABOUT COMPANY

As a leading manufacturer, PARS ROT VE ROTIL company has been
producing high qualified steering and suspension spare parts

for passenger cars and light commercial vehicles, it has been founded
in 1989 and it has supplied acceleration to the sector with the
improving institutional structure and fast growing producing power

that it has.

Over 5 million items annual producing capacity and 7 thousand
product range, and with over 200 employees places

PARS ROT VE ROTIL to the position of leadership within the sector in
national and also international improving markets.

As one of the varied range steering and suspension parts manufacturer
in the world,

production and assembling facilities of PARS ROT VE ROTIL contains
operations of the following product lines in steering and suspension

group for the aftermarket, stabilizer links, tie rod ends, axial joints,

ball joints, bushings.

PARS ROT VE ROTIL, is certified under ISO 9001-2015 quality
management systems and the products are precisely assembled in our
assembly lines and further, are made ready for packing upon

final control.

www.parsrot.com
info@parsrot.com




* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 3 info@parsrot.com




Rot sy

mw Land TOYOTA
4RUNNER N180 3rd Gen 1996-2002
|
TY-12731 TY-11735
Pt Tie Rod End Ball Joint
) Front Right Outer Front Upper
M20X1.5 4331030085
4504639335
TY-12732 TY-11774
Tie Rod End Ball Joint
Front Left Outer Front Right Lower
M20X1,5 4333039585
4504739215
TY-11775 TY-16738
Ball Joint Suspension Control Arm and Ball Joint
Assembly
Front Left Lower
Front Right Lower
4334039465
4806835081
TY-16739 TY-16978
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Left Lower Front Right Upper
4806935081 4861035040
TY-16979 TY-734
Suspension Control Arm and Ball Joint Stabilizer Link
Assembly
Rear
Front Left Upper
4883035020
4863035020
4RUNNER N210
|
TY-16748 TY-16749
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Upper

Front Left Upper

4861060070 4863060040
TY-13703 TY-191007
Axial Joint Lateral Arm
Front Rear Upper
M15X1,5-L=233mm 4877012010
4551012390

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land TOYOTA
AURIS 2007-2013
TY-12702 TY-12701
Tie Rod End Tie Rod End
Front Left Front Right
4504719215 4504619415
LX-20701 LX-20703
Control Arm Bushing Control Arm Bushing
Front Right Front Right
4806947050 4806947050
TY-11705 TY-16111
Ball Joint Suspension Control Arm and Ball Joint
Front Assembly
Front Right Lower
4333049095
4806812300
TY-16111N TY-16112N

Suspension Control Arm
Front Right Lower
4806812300

Suspension Control Arm
Front Left Lower

4806912300

TY-14706
Stabilizer Link

Front
L=360mm

4882047020

2013-2018

TY-14706

Stabilizer Link

TY-16112N

Suspension Control Arm

Suspension Control Arm
Front Right Lower
4806812300

Front Front Left Lower
L=360mm 4806912300
4882047020
TY-16111N  TY-16111

Suspension Control Arm and Ball Joint
Assembly

Front Right Lower
4806812300

R
o™

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 5 info@parsrot.com



—
sy L and

TOYOTA

2013-2018

TY-11705 LX-20703
Ball Joint Control Arm Bushing
Front Front Right
4333049095 4806947050
LX-20701 TY-19717
Control Arm Bushing Lateral Arm
Front Right Rear Lower
4806947050 4871005090
TY-12711  TY-12712
Tie Rod End Tie Rod End
Front Right Front Left
M15X1,5 M15X1,5
4504609570 4504709270
AVALON XX10,XX20 1995-2004
| |
TY-13133
Axial Joint
_ Front
4550339135
AVALON XX30 2005-2012
|
TY-13213 TY-11215
Axial Joint Ball Joint
Front Front Left Lower
4550339275 4334039605
TY-11214 TY-12182
Ball Joint Tie Rod End

Front Right Lower

Front Left Outer

4333039775 4547039225
TY-12181 LX-14217
Tie Rod End Stabilizer Link
Front Right Outer Rear
4546039635 4883006060

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

6

info@parsrot.com



—
sy L and

AVALON

AVENSIS

TOYOTA
XX30 2005-2012
TY-19365 TY-19475
Lateral Arm Lateral Arm
Rear Front Rear Lower
4871006130 4871006120
|
TY-11474
Ball Joint
Rear Lower
4871006120
(T22) 1997-2003
TY-13414 TY-12411
Axial Joint Tie Rod End
Front Front Right
M14x1,5Rht-L=240mm M14x1,5Rht
4550305020 4504629365
TY-14430 TY-14431
Stabilizer Link Stabilizer Link
Front Left Front Right
L=72mm L=72mm
4881044010 4882044010
TY-14432 TY-14433
Stabilizer Link Stabilizer Link
Rear Front
L=140mm L=152mm
4883005020 4865020021
TY-11405 TY-16437
Ball Joint Suspension Control Arm and Ball Joint

Front Lower

Assembly
Front Right Lower

4333029375
4806805050
TY-16438 TY-16437N
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly

Front Left Lower

4806905050

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

Front Right Lower
4806805050

parsrot.com

7

info@parsrot.com



Rot sy

= Land TOYOTA
AVENSIS (T22) 1997-2003
|
TY-16438N TY-12412
Suspension Control Arm Tie Rod End
-
Front Left Lower Front Left M
4806905050 ~ M14x1.5RAt <
4504729125
] |
TY-20445 TY-20446
— Control Arm Bushing Control Arm Bushing —
Rear Center
4865520140 4865420150
(T25) 2003-2009
|
TY-20457 TY-20458
Control Arm Bushing Control Arm Bushing =
Rear Center
4806905070 4806942040
| |
TY-12531 TY-12532
Tie Rod End Tie Rod End @
Front Front
Only:1.8Lt. M15x1.5 M16x1.5 &"-——
4504609230 4504629425
| |
TY-11535 TY-16539
Ball Joint Suspension Control Arm and Ball Joint
Assembly
Front
Front Right Lower
4333029425
4806805070
| |
TY-16540 TY-16539N
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front Right Lower
Front Left Lower
4806805070
4806905070
|
TY-16540N TY-16608N

Suspension Control Arm
Front Left Lower

4806905070

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

Suspension Control Arm
Front Right Lower
4806812260

parsrot.com

8

info@parsrot.com



Rot sy

= [and TOYOTA
AVENSIS (T25) 2003-2009

TY-13530 TY-13533

N Axial Joint Axial Joint
: Front Front
Only:1.8Lt. M15x1.5-L=368mm M16x1,5-L=304mm
4550005030 455030R010
TY-16609N TY-14534

Suspension Control Arm

Front Left Lower

Stabilizer Link

|

o

|

Front ’.E_b
L=285mm

|

4806912260
4882047010
TY-14537 TY-14536
Stabilizer Link Stabilizer Link
Rear Left Rear Right
4884021010 4883021020
AVENSIS (T27) 2009-2018
| |
TY-13573 TY-12571
Axial Joint Tie Rod End
Front Front Right
M16x1.5-L=243mm M16X1,5
4550005040 4504609660
TY-12572 TY-11574
A~ Tie Rod End Ball Joint
’ Front Left Front Lower
M16X1.5 4333009770
4504709320
|
TY-16578 TY-16579
— Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower

Front Left Lower

4506805080 4606905080
TY-14707 TY-14706
P Stabilizer Link Stabilizer Link
Rear Front
L=65,5mm L=360mm
4883012070 4882047020

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land TOYOTA
AVENSIS VERSO 1st Gen 1995-2001
|
TY-14136 TY-14137
Stabilizer Link Stabilizer Link
4 - Front Right Front Left . 4.
—® 4882033020 4881033010 -
AVENSIS VERSO 2nd Gen 2001-2009
TY-13583 TY-12581
Axial Joint Tie Rod End
Front Front Right
_ 4550349105 4504749055
| |
TY-12582 TY-14538
—_ Tie Rod End Stabilizer Link
Front Left Front ’_—b
B 4504649125 Picnic L=280mm
4882044020
|
- TY-11405
Ball Joint

Front Lower

4333029375

1995-2004

TY-14134 TY-12131

Stabilizer Link Tie Rod End
Front Left Front
4883033010 4504629255
|

1

TY-14140
Stabilizer Link
Rear

4883048010

AYGO 2005-2014

PG-16179

|
Suspension Control Arm and Ball Joint
Assembly
* Name of vehicles, models, Iogqgr&ﬁtr\ggﬁeﬁﬁﬂé?thers in this document are used for reference purposes only.
rot.com 480690H010 10 info@parsrot.com



Rot sy

mw Land TOYOTA
AYGO 2005-2014
PG-14240 PG-16178
Stabilizer Link Suspension Control Arm and Ball Joint
Assembly
*— Front
L=335mm Front Right Lower
96288787 480680H010
|
PG-12172 TY-11305
Tie Rod End Ball Joint
Front Left Outer Front Lower
M12x1.25 4330859095
381763
|
PG-13173 PG-12171
P~ Axial Joint Tie Rod End
! Front Front Right Outer
M12X1,25-L=224mm M12x1,25
455000H010 381764
CIT-20661 CIT-20662
Control Arm Bushing Control Arm Bushing
Rear Center
3521L3 3521L3
AYGO 2014 after
| |
CIT-16649 CIT-16648
P Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Left Lower

Front Right Lower

1614191480 1614191680
CAMRY XV10 1991-1996
TY-16237N TY-16236N
Suspension Control Arm Suspension Control Arm
Front Left Front Right
’) 4806933020 4806833020 @
TY-12131 TY-11135

Tie Rod End Ball Joint

)
Front Front Lower
4504629255 4333039435

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land TOYOTA
(071,134 4 XV10 1991-1996

TY-14134 TY-13133

Stabilizer Link Axial Joint
Front Left Front
4883033010 4550339135
TY-16236 TY-16237
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint

Assembly Assembly
Front Right Front Left
Nt 4806833010 4806933010
TY-14410
Stabilizer Link
Front
L=60mm
4882033010
XV20 1996-2001
TY-18130 TY-13133
Suspension Control Arm Repair Kit Axial Joint
Front Front
K620051 4550339135
TY-14134 TY-11135
Stabilizer Link Ball Joint
Front Left Front Lower
4883033010 4333039435
TY-16246 TY-12131
Suspension Control Arm and Ball Joint Tie Rod End
Assembly Eront
Front Right 4504629255
4806833030
TY-14137 TY-16247N
Stabilizer Link Suspension Control Arm
> 4 Front Left Front Left
4881033010 4806933030 ,)

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

12

info@parsrot.com



Rot sy

Front Right Lower

Front Left Lower

= Land TOYOTA
(071,134 4 XV20 1996-2001
TY-14136 TY-16246N
Stabilizer Link Suspension Control Arm
4 o Front Right Front Right
—® 4882033020 4806833030 @
]
TY-16247
o Suspension Control Arm and Ball Joint
4 Assembly
Front Left
- 4806933030
XV30 2001-2006
|
TY-13183 TY-12181
Axial Joint Tie Rod End
Front Front Right Outer A
4550339225 4546039635
| |
TY-12182 TY-12172
Tie Rod End Tie Rod End
H Front Left Outer Front Left H
4547039225 4547039215
| |
TY-12171 TY-14140
Tie Rod End Stabilizer Link
A Front Right Rear ‘_—‘
4546039615 4883048010
| |
TY-11185 TY-11186
E Ball Joint Ball Joint 5
| |

4333029405 4334029175
TY-14139 TY-16187
Stabilizer Link Suspension Control Arm and Ball Joint =
Assembly /
Front
Front Right Lower
4882028050

4806806140

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

CAMRY

XV30

TOYOTA

2001-2006

TY-16187N

—— Suspension Control Arm

Front Right Lower

TY-16188N

Suspension Control Arm

Front Left Lower

4806806140 4806858010
|
TY-16188
S Suspension Control Arm and Ball Joint
Assembly
‘ Front Left Lower
Nt 4806858010
XV40 2007-2011
TY-14290 TY-14216A
Stabilizer Link Stabilizer Link
Front Front
4882006050 ~ L--260mm
4882033040
TY-19475 TY-19365
Lateral Arm Lateral Arm
Rear Lower Rear Front
4871006120 4871006130
LX-20971 LX-20935

Control Arm Bushing
Front Right Inner
4806908021

Control Arm Bushing
Front Lower Outer

4806908021

LX-14217

Stabilizer Link

LX-16219N

Suspension Control Arm

Rear Front Left Lower
4883006060 4806907050
TY-12182 TY-12181
Tie Rod End Tie Rod End
H Front Left Outer Front Right Outer
4547039225 4546039635

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

mw Land TOYOTA
CAMRY XVv40 2007-2011
TY-11214 TY-11215
Ball Joint

— Ball Joint
Front Right Lower

Front Left Lower

4333039775 4334039605
TY-13213 LX-16218
Axial Joint Suspension Control Arm and Ball Joint
Assembly
Front
Front Right Lower
4550339275
4806807040
LX-16218N LX-16219

P Suspension Control Arm

Front Right Lower

Suspension Control Arm and Ball Joint
Assembly

Front Left Lower

Front Left Lower

4806807050
4806907040
XV50
LX-16219 LX-16218
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower

4806907040 4806807040
TY-11215 TY-11214
Ball Joint Ball Joint

Front Left Lower

Front Right Lower

4334039605 4333039775
TY-14216A TY-12811
Stabilizer Link Tie Rod End
Front Front Right
L=260mm 4546009230
4882033040
TY-12812 TY-14810A
Tie Rod End Stabilizer Link
Front Left Front
4547009140 ~ 2014-2016
4882006090

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land TOYOTA
CARINA T170 1987-1993

TY-13423 TY-12421

Axial Joint Tie Rod End

-'ﬁw Front Front Right

|

M15x1,5Rht-L=239mm M15x1,5Rht N

4550329165 4504629335

TY-12422 TY-14416
Tie Rod End Stabilizer Link
Front Left Front Right x

M15x1,5Rht L=70mm
4504729105 4882044010

TY-14417 TY-11405 =

Stabilizer Link Ball Joint

Front Left Front Lower

L=70mm 4333029375
4881020020

TY-20220

Control Arm Bushing
Center

4865412070

T190 1992-1997

TY-20458 TY-20254

Control Arm Bushing Control Arm Bushing
Center Front Outer

4806942040 4865520140

TY-11405 TY-12412

Ball Joint Tie Rod End

Front Lower Front Left
4333020375 ~ M14x1.5Rnt
4504729125

TY-12411 TY-14417

Tie Rod End Stabilizer Link

A Front Right Front Left
b *Q M14x1,5Rht L=70mm

4504629365 4881020020

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 16 info@parsrot.com



Rot sy

mw Land TOYOTA
CARINA T190 1992-1997
TY-13413 TY-16447
Axial Joint Suspension Control Arm and Ball Joint
. Assembly
_ﬁﬂi Front )
M14x1,5Rht-L=241mm  FrontRight Lower
4550329615 4806820260
|
TY-14416 TY-14440
Stabilizer Link Stabilizer Link
X Front Right Rear
L=70mm L=104mm
4882044010 4883032010
|
TY-16448 TY-16447N
—_— Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front Right Lower
Front Left Lower
4806820260
4806920260
|
TY-16448N
Suspension Control Arm
Front Left Lower
4806920260
CELICA 1999-2005
TY-13633 TY-12631
Axial Joint Tie Rod End
Front Front Right
M14x1.5,L.=302mm M14x1,5
4550349035 4504649085
TY-12632 TY-11605
Tie Rod End Ball Joint
Front Left Front Lower
M14x15 4333000360
4504749015
TY-14630 TY-14607
— Stabilizer Link Stabilizer Link
Rear Front
L=11Imm 4882032010
4882024010

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

17

info@parsrot.com



Rot sy

= [and TOYOTA
1st Gen 2016 after
TY-19926 TY-19927
Lateral Arm Lateral Arm
Rear Right Rear Left
48770F4010 48790F4010
TY-12921 TY-12922
Tie Rod End Tie Rod End
Front Right Front Left
45046F9010 45047F9010
TY-14928 TY-19495
Stabilizer Link Lateral Arm
Front Rear Lower
4882047040 4871047010
TY-11705 TY-201059
Ball Joint Control Arm Bushing
Front Rear
4333049095 48790F4010

COROLLA

E100 Euro Made

1992-1997

TY-20220 TY-12401
Control Arm Bushing Tie Rod End
Center Front
4865412070 M14x1.5Rnt
4504629305
TY-14410 TY-13103
Stabilizer Link  Axial Joint
Front Front
L=60mm PowerSteering M14x1,5-L=321mm
4882033010 4550319135
— TY-11434  TY-16427
Ball Joint Suspension Control Arm and Ball Joint

Front Lower

4333019095

Assembly
Front Right Lower
4806812130

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land TOYOTA
COROLLA E100 Euro Made 1992-1997
|
TY-16428 TY-16428K
— Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Left Lower

4806912130

Front Left Lower

4806912130

TY-16427N

Suspension Control Arm

Front Right Lower

TY-16428N

Suspension Control Arm

Front Left Lower

4806812140 4806912140
TY-14440 TY-20625
Stabilizer Link Control Arm Bushing VN
Rear Front Lower Outer
L=104mm 4806912130
4883032010

Front Right Lower
4806812191

E110 Euro Made 1997-2002
|
TY-11434 TY-13104
Ball Joint Axial Joint
Front Lower Front Inner e T
4333019095 M14x1,5-L=333mm
4550319125
|
TY-16435 TY-16436
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Left Lower

4806912191

TY-16435N

Suspension Control Arm

Front Right Lower

TY-16436N

Suspension Control Arm

Front Left Lower

|
4806812171 4806912171 A
TY-14110 TY-14420
Stabilizer Link Stabilizer Link
Front Rear H
L=55mm L=104mm
4882020021 4883012060

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

== Land TOYOTA
COROLLA E110 Euro Made 1997-2002
TY-12401 TY-20220
Tie Rod End Control Arm Bushing
Front Center
M14x1.5Rht 4865412070
4504629305
TY-20221

Control Arm Bushing
Front Outer
480681219081

E120 Euro Made

2002-2007

Front Lower

TY-20458 TY-20457
Control Arm Bushing Control Arm Bushing
Center Rear
4806942040 4806905070
TY-11605 TY-16609N
Ball Joint Suspension Control Arm

Front Left Lower

Front Right Lower
4806812260

4333009360 4806912260
TY-16608N TY-13603
Suspension Control Arm Axial Joint
Front Right Lower Front
4806812260 M14x1,5-L=270mm
4550319256
TY-12601 TY-12602
Tie Rod End Tie Rod End
Front Right Front Left
M14x1,5Rht M14x1,5Rht
4504649115 4504749045
TY-16608 TY-16609
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Left Lower

4806912260

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 20 info@parsrot.com



—
sy L and

COROLLA

E120 Euro Made

TOYOTA
2002-2007

TY-14607 TY-14536
Stabilizer Link Stabilizer Link
Front Rear Right
4882032010 4883021020
TY-14537
Stabilizer Link
Rear Left
4884021010

COROLLA E120 Usa Type 2003-2008
| |
TY-13673 TY-12671
Axial Joint Tie Rod End

Front Front Right
USAMARKET USAMARKET
4550309400 4504609200
TY-12672 TY-16678
Tie Rod End Suspension Control Arm and Ball Joint
Assembly
Front Left
USAMARKET Front Right Lower
USAMarket
4504709080
4806802021
TY-16679 TY-16678N
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front Right Lower
Front Left Lower USAMarket
USAMarket
4806802021
4806902021
TY-16679N

Suspension Control Arm

Front Left Lower
USAMarket

4806902021

E140 Euro Made

2007-2013

TY-13703

Axial Joint

Front
M15X1,5-L=233mm

4551012390

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

TY-12701
Tie Rod End
Front Right
4504619415

r

parsrot.com

info@parsrot.com



Rot sy

= Land TOYOTA
COROLLA E140 Euro Made 2007-2013
|
TY-12702 LX-20701
Tie Rod End Control Arm Bushing
Front Left Front Right
4504719215 4806947050
LX-20703 TY-11705
Control Arm Bushing Ball Joint
Front Right Front
4806947050 4333049095
]
TY-16111 TY-16111N
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front Right Lower
Front Right Lower
4806812300
4806812300
|
TY-16112N TY-14706
Suspension Control Arm Stabilizer Link
Front Left Lower Front
4806912300  L-=360mm
4882047020

COROLLA E140 Usa Type 2009-2013
| |
TY-121001 TY-121021

—~ Tie Rod End Tie Rod End
! Front Front
4504619425 4504609600
TY-111004
Ball Joint

Front Lower

4333009670

E170 Euro Type

2013 after

TY-121021
Tie Rod End
Front

4504609600

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

TY-12712

Tie Rod End

Front Left
M15X1,5

4504709270

parsrot.com

info@parsrot.com



—
sy L and

COROLLA

COROLLA

COROLLA

E170 Euro Type

TOYOTA
2013 after

TY-12711 TY-14706
Tie Rod End Stabilizer Link
Front Right Front
M15X1,5 L=360mm
4504609570 4882047020
TY-16112 TY-16111
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Left Lower Front Right Lower
4806912300 4806812300
TY-11705 TY-111004
Ball Joint Ball Joint
Front Front Lower
4333049095 4333009670

E80 Euro Made

TY-11115
Ball Joint
Front Lower

4333029205

TY-12401
Tie Rod End

Front
M14x1,5Rht

4504629305

E90 Euro Made

TY-12401 TY-14440
Tie Rod End Stabilizer Link
Front Rear
M14x1,5Rht L=104mm
4504629305 4883032010
TY-13103  TY-13104
Axial Joint Axial Joint
Front Front Inner
PowerSteering M14x1,5-L=321mm M14x1,5-L=333mm
4550319135 4550319125
TY-14450 TY-11105
Stabilizer Link Ball Joint
Front Front Right Lower
L=70mm 4333019066
4882020010

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

23

info@parsrot.com



Rot sy

= [and TOYOTA
COROLLA E90 Euro Made 1987-1992
|
TY-11106 TY-20221
Ball Joint Control Arm Bushing

Front Left Lower

Front Outer

4334019016 4806812190S1
|
TY-20220
Control Arm Bushing
Center
4865412070
COROLLA Verso 2004-2009
|
TY-11625 TY-14534
Ball Joint Stabilizer Link
Front Lower Front
- 4333009360  L-28%mm
' 4882047010
|
TY-12532 TY-13533
@ Tie Rod End Axial Joint
Front Front
M16x1.5 M16x1,5-L=304mm
4504629425 455030R010

CORONA
TY-14418 TY-14419
Stabilizer Link Stabilizer Link
Front Right Front Left
L=61mm L=61mm
4882020030 4881020010
TY-20220 TY-20254

Control Arm Bushing

Control Arm Bushing

Control Arm Bushing

Center Front Outer
4865412070 4865520140
1992-1995
|
TY-20458

Center
* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

4806942040

info@parsrot.com



—
sy L and

CORONA

TOYOTA
1992-1995

TY-11405 TY-12421
Ball Joint Tie Rod End
Front Lower Front Right
4333020375 ~ M15x1.5Rnt
4504629335
TY-13423 TY-16447N
Axial Joint Suspension Control Arm

—-ﬁw Front

M15x1,5Rht-L=239mm

Front Right Lower

Il

4806820260
4550329165
|
TY-16448 TY-12422
P Suspension Control Arm and Ball Joint Tie Rod End
/ Assembly
Front Left
Front Left Lower M15x1,5Rht
4806920260 4504729105
TY-16447 TY-16448N
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front Left Lower
Front Right Lower
4806920260
4806820260
CRESSIDA 1977-1985
|
TY-11884 TY-16888
Ball Joint Suspension Control Arm and Ball Joint
Assembly
Front
Front Right Lower
4806929095
4806829095
TY-16889
Suspension Control Arm and Ball Joint
Assembly
Front Left Lower
4806929095
DYNA 1995-2000
|
TY-12751 TY-12752
Tie Rod End Tie Rod End
Front Right Front Left
M12X1,25Rht M12X1,25Lht
4504639325 4504739205

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land TOYOTA
ECHO XP10 1999-2005
|
TY-13320 TY-13323
—— Axial Joint Axial Joint
‘ Front Front Inner _._-=="
4550352030 4550352010
|
TY-12321 TY-12322
~ Tie Rod End Tie Rod End -
i Front Right Front Left 3
4504659045 4504759035
]
TY-16325 TY-16326
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint

Assembly Assembly
Front Right Lower Front Left Lower
: 4806859035 4806959035
TY-16328 TY-16329
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Lower Front Left Lower
4806859055 4806959055
TY-16325N TY-16326N

Suspension Control Arm

Front Right Lower

Suspension Control Arm

Front Left Lower

4806859035 4806959035
TY-14324 TY-20683
Stabilizer Link Control Arm Bushing
Front Center
4881952010S1 4806959055
TY-20296 TY-20295
Control Arm Bushing Control Arm Bushing
Rear Center
4806959035 4806959035

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

TOYOTA
XP10 1999-2005
|
TY-11305
Ball Joint
Front Lower
4330859095
-1 1983-1995
.|
TY-13878 TY-12861
Axial Joint Tie Rod End
Front Front Inner
Only:Ill M17x1,5-L=276mm M17x1,5
4550329255 -
.|
TY-12864 TY-12872
Tie Rod End Tie Rod End
Front Outer Front Inner ‘
M17x1,5Lht M17x1,5Rht
4504639215 4504619145
.|
TY-11875 TY-11876
Ball Joint Ball Joint
Front Lower Front !
(4X2) Only:Ill 4
4333029295 4335029095 :
.|
TY-14898 TY-14899
Stabilizer Link Stabilizer Link
Front Right Front Left r——
L=73mm L=73mm 4
4882026030 4881026030
1999-2006
.|
TY-12911 TY-14910
Tie Rod End Stabilizer Link —
Front Front
M15X1,15 A=71.5MM
4504629325 4883026030
TY-14916  TY-14917
Stabilizer Link Stabilizer Link
Rear Right Rear Left
L-90MM L-90MM
4882026020 4881026020

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land TOYOTA
HIACE 2007 after
.|

TY-12881 TY-16869

P Tie Rod End

Front Outer

Ball Joint o

Front Lower

Suspension Control Arm

4504629456 4333029565
XU20
LX-13203 TY-16188
Axial Joint Suspension Control Arm and Ball Joint
Assembly
Front
M16x1.5-L=245mm Front Left Lower
4550309270 4806858010
TY-16188N TY-16187N

Suspension Control Arm ~

Front Left Lower Front Right Lower
4806858010 4806806140

TY-16187 LX-14190

Suspension Control Arm and Ball Joint Stabilizer Link
Assembly Rear
Front Right Lower 4883032040

4806806140

TY-12171 TY-12172
Tie Rod End Tie Rod End

Front Right Front Left

4546039615 4547039215

TY-14140 TY-14139

Stabilizer Link Stabilizer Link
Rear Front
4883048010 4882028050
HIGHLANDER XU40,XU50 2008-2016

TY-12281 TY-12282

Tie Rod End Tie Rod End
Front Right Front Left

4546009180 4547009020

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

TY-12864 TY-12865
Tie Rod End Tie Rod End
Front Outer Front Inner
- M17x1,5Lht M17x1,5Rht
4504639215 4504639115
TY-11866 TY-11868
Ball Joint Ball Joint
Front Front Lower
4335039115 4333039195
TY-11870 TY-11886
Ball Joint Ball Joint
Front Lower Front
4334039175 4335039125
TY-16826 TY-16827
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint —
Assembly Assembly
Right Lower Left Lower
4560535120 4806929095

Assembly Assembly
Front Left Lower Front Right Lower
) 480690T011 480680T011
LX-14227 LX-14226
— Stabilizer Link Stabilizer Link
Rear Left Rear Right
4880348010 4880248010

Il 2WD Pick-Up

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

= Land TOYOTA
HIGHLANDER XU40,XU50 2008-2016
TY-11284 TY-11285
= Ball Joint Ball Joint
Front Right Front Left
4333009780 4334009140
TY-16289 TY-16288
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint

parsrot.com

info@parsrot.com



Rot m=y
= Land TOYOTA

HILUX Il 2WD Pick-Up 1983-2005

TY-16825N TY-16826N
Suspension Control Arm Suspension Control Arm
Front Front Right
4 4806635130 4860535100
S
]

TY-16827N

Suspension Control Arm
Front Left
4860535121

HILUX Il 2WD Pick-Up 1984-1988

TY-12864
Tie Rod End

Front Outer
M17x1,5Lht

4504639215

HILUX Il 4WD Pick-Up 1983-2005

TY-11871 TY-12864

Ball Joint Tie Rod End

Front Lower Front Outer
4334030245 ~ M17x1,5Lht
4504639215
Il 4WD Pick-Up 1984-1988

TY-12851 TY-12852
Tie Rod End Tie Rod End

Front Right Outer Front Left Outer
M21x1,5Lht M21x1,5Rht

4504635080 4504735050

TY-12862 TY-11855

Tie Rod End Ball Joint

=3

Front Inner Front
MI7x1.5Rht 4335039045
4540639175

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 30 info@parsrot.com



Rot sy

== Land TOYOTA
Il 4WD Pick-Up 1984-1988
|
TY-12864
Tie Rod End
Front Outer
M17x1,5Lht
4504639215
Il 2WD Pick-Up 2005-2015

TY-11255 TY-12251
Ball Joint Tie Rod End
Front Front
4331009015 M19x1.5
4504609261
TY-11254 TY-16256
Ball Joint Suspension Control Arm and Ball Joint

Front Lower

Assembly
Front Right Upper

4333009510
486100K010
TY-16257 TY-16258
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Left Upper Right Lower
486300K010 480680K010
TY-16259 TY-14547
Suspension Control Arm and Ball Joint Stabilizer Link
Assembly
Front
Left Lower L=121mm
480690K010 488200K010
TY-13253 TY-13253
Axial Joint Axial Joint
Front Front
M15X1,5-L=294mm M15X1,5-L=294mm
4550309331 4550309331
TY-12261 TY-16266
Tie Rod End Suspension Control Arm and Ball Joint
Assembly
Front
M15x1,5 Front Right Upper
4504609281  486100K040

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 31 info@parsrot.com



Rot sy

= Land TOYOTA
HILUX Il 4WD Pick-Up 2005-2015

TY-16267 TY-16268

g, Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
N Assembly Assembly

Front Left Upper Front Right Lower

486300K040  4WDPick-Up
480680K040
TY-16269 TY-14264
Suspension Control Arm and Ball Joint Stabilizer Link
Assembly
Front Right
Front Left Lower L=140mm
4WDPick-Up
488200K030
480690K040

TY-11254 TY-11255
Ball Joint Ball Joint
Front Lower Front

4333009510 4331009015

TY-14265
Stabilizer Link

Front Left
L=140mm

488100K010

(\Y) 2016 after

TY-14265 TY-161008

Stabilizer Link Suspension Control Arm and Ball Joint

Assembly
Front Left

L=140mm Front Right Lower
488100K010 480680K090

TY-161009 TY-11255

Suspension Control Arm and Ball Joint Ball Joint

Assembly
Front

4331009015

Front Left Lower

480690K090

TY-11254 TY-14264
Ball Joint Stabilizer Link
Front Lower Front Right

4333009510  L=140mm
488200K030

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 32 info@parsrot.com



Rot sy

== Land TOYOTA
INNOVA AN40 2005-2015
TY-14547 TY-13543
Pt Stabilizer Link Axial Joint
s Front Front
L=121mm M15x1.5-L=295.8mm
488200K010 4550309350
TY-12541 TY-11545
Tie Rod End Ball Joint
Front Front
M15x1.5
4504609320
TY-11546
Ball Joint
Front Lower
2009-2016
TY-13650 TY-16658
Axial Joint Suspension Control Arm and Ball Joint
Assembly
Front
Front Right Lower
4550374010
4806879015
TY-16659 TY-14654A
Suspension Control Arm and Ball Joint Stabilizer Link
Assembly
Front
Front Left Lower MetalDesign L=283mm
4806979015 4882074010
TY-20683 TY-20731

Control Arm Bushing

Control Arm Bushing

Front Lower

4330859095

Center Front Outer
4806959055 4806979015
TY-11305
Ball Joint

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land TOYOTA
LAND CRUISER J100 1998-2007
. |

TY-20160K

Suspension Stabilizer Bar Link Kit

TY-14160

Stabilizer Link

Front Front
4882060032 4882060032
TY-141000 TY-16147

Stabilizer Link

Suspension Control Arm and Ball Joint
Assembly

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

4862060010

Rear
Front Left Upper
4880260090
4863060010
|
TY-16146 TY-11144
Suspension Control Arm and Ball Joint Ball Joint
Assembly
Front Lower
Front Right Upper
4864060010
4861060030
|
TY-12692 TY-12691
Tie Rod End Tie Rod End
Front Left Outer Front Right Outer
4504769100 4504669195
|
TY-12142 TY-12141
Tie Rod End Tie Rod End
M Front Left Front Right
4504769115 4504669205
|
TY-13163 TY-13143
Axial Joint Axial Joint
Front Front Inner
4550339075 4550369025
|
TY-11145 TY-16148
Ball Joint Suspension Control Arm and Ball Joint
Assembly
Upper
Front Right Lower
4863060010

parsrot.com

34

info@parsrot.com



Rot sy

= [and
LAND CRUISER J100
TY-16149
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower

Front Lower

4864060010
J120
TY-11934 TY-16948
Ball Joint Suspension Control Arm and Ball Joint

Assembly
Front Right Lower

Front Left Lower

4806960010
4806860010
TY-16949 TY-16749
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Left Upper

TOYOTA
1998-2007

2003-2010

4806960010 4863060040
TY-16748 TY-14157
Suspension Control Arm and Ball Joint Stabilizer Link
Assembly
Front Left
Front Right Upper
4881060040
4861060070
TY-14156 TY-14150
Stabilizer Link Stabilizer Link
Front Right Rear
4882060050 4883060030
TY-12151 TY-13153
- Tie Rod End Axial Joint
: Front Front
4504639505 4550339235
LAND CRUISER J200 2008 after
| |
TY-13783 TY-12781
Axial Joint Tie Rod End
Front Front Right
M22X1,5-L.=233MM M16X1.5
4550360030 4504769146

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

mw Land TOYOTA
LAND CRUISER J200 2008 after
TY-12782 TY-11830
P Tie Rod End Ball Joint
s Front Left Front Lower
M16X1.5 4806909090
4504769145
TY-16388 TY-16389
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Upper Front Left Upper
4861060060 4863060030
TY-16758 TY-16759
P Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
/ \ Assembly Assembly
Front Right Lower Front Left Lower
4806860030 4806960030
TY-14596 TY-14597
Stabilizer Link Stabilizer Link
Front Right Front Left
4882060071 4881060051
TY-14780 TY-14786
Stabilizer Link Stabilizer Link
Rear Front Right
L=70mm 4882060080
9094802202
TY-14787
Stabilizer Link
Front Left
4881060060
J70 1984 after
TY-12722 TY-12721
Tie Rod End Tie Rod End
Front Right Front Front Left Front
M23X1,5 M23X1,5
4504669135 4504769085

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

== Land TOYOTA
LAND CRUISER J80 1990-1997
TY-12721 TY-12722
Tie Rod End Tie Rod End
Front Left Front Front Right Front
M23X1,5 M23X1,5
4504769085 4504669135
J90
TY-14730 TY-16739

Stabilizer Link

Suspension Control Arm and Ball Joint
Assembly

Front Lower

4806960040

Front
A=L=128mm/290GR-B=M12x1.25  Front Left Lower
48820AD010 4806935081
TY-16738 TY-12732
Suspension Control Arm and Ball Joint Tie Rod End
Assembly
Front Left Outer
Front Right Lower M20X1,5
4806835081 4504739215
TY-11735 TY-12731
Ball Joint Tie Rod End
Front Upper Front Right Outer
4331030085 ~ M20X1.5
4504639335
TY-734
Stabilizer Link
Rear
4883035020
PRADO J150 2010 after
TY-13793 TY-12791
Axial Joint Tie Rod End
Front Front
M16x1.5/L=261MM M16x1.5
4550360040 4504669245
TY-111014
Ball Joint

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 37 info@parsrot.com



Rot sy

= Land TOYOTA
MATRIX ZZE132 | ZZE133 2002-2008
I
TY-13373
Axial Joint
S—— s ] Front
M-15X1,5-L=273mm
4550301030
MR2 (W3) 2000-2005
[ I
TY-12121
N Tie Rod End
. \ Front
' M12x1,25Rht
- 4504619206
MR2 Il 1989-1999

TY-12341 TY-12342
Tie Rod End Tie Rod End A~
Front Right Front Left A \
4504619195 4504719075

PASEO (EL54) 1995-1999
| I
TY-12121
N Tie Rod End
\ Front
' M12x1,25Rht
- 4504619206
1st Gen 1996-2001
o TY-11405 TY-14538
Ball Joint Stabilizer Link
Front Lower Front
4333029375 Picnic L=280mm

4882044020

TY-12421 TY-13423

Tie Rod End Axial Joint

N Front Right Front
M15x1,5Rht M15x1,5Rht-L=239mm

4504629335 4550329165

1]

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 38 info@parsrot.com



Rot sy

== Land TOYOTA
PICNIC 1st Gen 1996-2001
|
TY-12422
Tie Rod End
h Front Left
M15x1,5Rht
4504729105
PREVIA XR10, XR20 1990-2000

TY-13733 TY-14736
Axial Joint Stabilizer Link

Front Front Right
M14x1.5/L=2015MM 4882028030

4550329295

TY-14737
Stabilizer Link
Front Left
4881028020

XR30, XR40 2000-2006

TY-13271 TY-13272
Axial Joint Axial Joint
Front Right Outer Front Left Outer
4546059115 4547059135

TY-13723 TY-16188

Axial Joint Suspension Control Arm and Ball Joint

Assembly
Front

L=235/M15X1,5 Front Left Lower
4550329765 4806858010

TY-16188N TY-16187

Suspension Control Arm Suspension Control Arm and Ball Joint
Assembly

Front Left Lower

Front Right Lower
4806858010

4806806140

TY-16187N TY-11185

Suspension Control Arm Ball Joint
Front Right Lower Front Right Lower
4806806140 4333029405

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 39 info@parsrot.com



Rot sy

== Land TOYOTA
PREVIA XR30, XR40 2000-2006
TY-12172 TY-12171
Tie Rod End Tie Rod End
Front Left Front Right
4547039215 4546039615
TY-14139 TY-11186

Stabilizer Link

Ball Joint

Front Left Lower

4806947050

Front Front Left Lower
4882028050 4334029175
XW20 2003-2009
|
TY-13963 TY-12661
Axial Joint Tie Rod End
Front Front Right
4550347030 4504649145
TY-12662 TY-11665
Tie Rod End Ball Joint
Front Left Front Lower
4504740075 ~ USAMarket
4333049055
XW30
TY-12901 TY-12902
Tie Rod End Tie Rod End
Front Right Front Left
M14x1,5 M14x1,5
4504649225 4504749165
TY-11645 TY-16908
Ball Joint Suspension Control Arm and Ball Joint
Assembly
Front
Front Right Lower
4333049185
4806847050
TY-16909 TY-16908N
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly

Front Right Lower
4806847050

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

PRIUS

XW30

TOYOTA

2009-2015

TY-16909N

Suspension Control Arm

Front Left Lower

TY-11605
Ball Joint

Front Lower

4806947050 4333009360
LX-20703 LX-20701
Control Arm Bushing Control Arm Bushing
Front Right Front Right
4806947050 4806947050
|
TY-14706
Stabilizer Link
Front
L=360mm
4882047020
QUALIS F60, F70, F80 1997-2004
|
TY-13993 TY-12999
Axial Joint Tie Rod End
Front Front
M14x15-L=296mm M14x1,5Rht
RAV4 XA10 1995-2000
|
TY-13403 TY-11205
Axial Joint Ball Joint
————- e Front Front
M14x1,5Rht-L=318,1mm 4333049025
4550319215
|
TY-16225 TY-16226
— Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower
4806842022

Front Left Lower

4806942022

TY-16225N

Suspension Control Arm
Front Right Lower
4806842022

TY-16226N

Suspension Control Arm
Front Left Lower

4806942022

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

42

= Land TOYOTA
XA10 1995-2000
|
TY-14407 TY-12401
Stabilizer Link Tie Rod End il
Front Front ;
L=63mm M14x1,5Rht
et s
4882042010 4504629305 2
XA20 2000-2005
|
TY-11605 TY-13503
Ball Joint Axial Joint
Front Lower Front 1)
4333009360 M15x1,5Rht-L=298mm
4550349165
| |
TY-13504 TY-12501
Axial Joint Tie Rod End &%
M
o —— = Front Front Left w
M15x1,5Rht-L=298mm M15x1,5Rht
4550349055 4504749025
| |
TY-12502 TY-16508
- Tie Rod End Suspension Control Arm and Ball Joint
W Assembly
w Front Right
M15x1,5Rht Front Right Lower
4504649095 4806842040
| |
TY-16509 TY-16508N
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front Right Lower
Front Left Lower
4806842040
4806942040
| |
TY-16509N TY-14500
Suspension Control Arm Stabilizer Link
Front Left Lower Rear Left Q. j
4806942040 Only:4WD L=100mm ¢ :
4884042010
| |
TY-14506 TY-14507
Stabilizer Link Stabilizer Link
6_T Front Rear Right Q
L=285mm Only:4WD L=100mm ; ‘
4882042020 4883042010
info@parsrot.com

parsrot.com



—
sy L and

Suspension Control Arm and Ball Joint

Assembly

Front Right Lower

4806842051

Suspension Control Arm and Ball Joint

Assembly
Front Left Lower

4806942051

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

TOYOTA
XA20 2000-2005
|
TY-20458
Control Arm Bushing
Center
4806942040
XA30 2005-2012
TY-20449 TY-14706
Control Arm Bushing Stabilizer Link
Rear Lower Front
4871042020 ~ L-=360mm
4882047020
TY-14526 TY-12522
Stabilizer Link Tie Rod End
Rear Front Left
L=74mm M16x1,5
4883042021 4504749195
TY-12521 TY-11705
Tie Rod End Ball Joint
Front Right Front
M16x1.5 4333049095
4504649195
TY-19525 TY-19686
Lateral Arm Lateral Arm
Rear Lower Rear Right Upper
4871042020 4877042040
TY-19687 TY-13523
Lateral Arm Axial Joint
Rear Left Upper Front
4879042020 4551042030
TY-16528 TY-16529

parsrot.com

43

info@parsrot.com



—
sy L and

RAV4

XA30

TOYOTA

2005-2012

TY-16528N

— Suspension Control Arm

Front Right Lower

TY-16529N

Suspension Control Arm

Front Left Lower

Stabilizer Link

Front
L=360mm

4882047020

4806842051 4806942051
XA40
TY-19567 TY-16568N
Lateral Arm Suspension Control Arm
Rear Front Right Lower
487100R030 4806842060
TY-16569N TY-20932
Suspension Control Arm Control Arm Bushing
Front Left Lower Rear
4806942060 487100R030
TY-11705 TY-12521
Ball Joint Tie Rod End
Front Front Right
4333040095 ~ M16x1.5
4504649195
TY-12522 TY-14526
Tie Rod End Stabilizer Link
Front Left Rear
M16x1,5 L=74mm
4504749195 4883042021
TY-14706 TY-16569

Suspension Control Arm and Ball Joint
Assembly

Front Left Lower

4806942060

TY-16568

Suspension Control Arm and Ball Joint
Assembly

Front Right Lower
4806842060

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 44 info@parsrot.com



Rot m==

= Land TOYOTA
SEQUOIA 1st Gen 2000-2007
TY-13953 TY-12981
Axial Joint Tie Rod End
Front Front Right Outer
4550309120 4504639465
TY-12982 TY-11764
Tie Rod End Ball Joint
Front Left Outer Front Right Lower
4504739295 4333039825
TY-11765 TY-16488
Ball Joint Suspension Control Arm and Ball Joint
Assembly
Front Left Lower
Front Right Lower
4334039595
4806834040
TY-16489 TY-16848
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front Right Lower
Front Left Lower
4806834020
4806934040
TY-16849 TY-16958

Suspension Control Arm

Front Left Lower

Suspension Control Arm

Front Right Upper

4806934020 4861034010
TY-16959 TY-14760
Suspension Control Arm Stabilizer Link
Front Left Upper Rear
4863034010 488300C010
TY-14800 TY-11775
Stabilizer Link Ball Joint
Front Front Left Lower
4882034010 4334039465

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

mw Land TOYOTA
SEQUOIA 1st Gen 2000-2007
.|
TY-11735 TY-11774
Ball Joint —

— Ball Joint
| Front Upper

Front Right Lower

4331039085 4333039585
SEQUOIA 2nd Gen 2007 after
| |
TY-16834
Suspension Control Arm and Ball Joint
Assembly
Front Right Upper
486100C011
2nd Gen 2008 after
|
TY-12831 TY-12832
Tie Rod End Tie Rod End
Front Right Front Left
4504609560 4504709260
TY-16835 TY-14836
Suspension Control Arm and Ball Joint Stabilizer Link
Assembly
Front Left
Front Left Upper
488100C010
486300C011
TY-14837 TY-11830
Stabilizer Link Ball Joint
Front Right Front Lower
488200C010 4806909090
SU-14157 SU-14156
Stabilizer Link Stabilizer Link
Rear Left Rear Right
488400C010 488300C020
XL10 1998-2003
|
TY-14316

Stabilizer Link
Front Right

* Name of vehicles, models, logos, OE numbers aind others in this document are used for reference purposes only.

4882008010

info@parsrot.com



Rot sy

mw Land TOYOTA
SIENNA XL10 1998-2003
TY-14317 TY-12131
P~ Stabilizer Link Tie Rod End
s ! Front Left Front
4881008010 4504629255
TY-13133
Axial Joint
Front
4550339135
SIENNA XL20 2003-2010
|
TY-12181 TY-11274
Tie Rod End Ball Joint
Front Right Outer Front Right
4546039635 4333009560
TY-11275 TY-16278
Ball Joint Suspension Control Arm and Ball Joint
Assembly
Front Left Lower
Front Right Lower
4334029215
4806808021
TY-16279 TY-16278N
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front Right Lower
Front Left Lower
4806808021
4806908021
TY-16279N TY-14270
Suspension Control Arm Stabilizer Link
Front Left Lower Front
4806908021 4882008020
TY-13272 TY-13271
Axial Joint Axial Joint
Front Left Outer Front Right Outer
4547059135 4546059115

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= [and TOYOTA
SIENNA XL20 2003-2010
|
LX-13203 LX-20935
- Control Arm Bushing N

Axial Joint

Front Right Lower
4806808040

Front Front Lower Outer
M16x1.5-L=245mm 4806908021
4550309270
LX-20971
Control Arm Bushing
Front Right Inner
4806908021
XL30 2011-2013
TY-11285 TY-11284
Ball Joint Ball Joint
Front Left Front Right
4334009140 4333009780
XL30
TY-16468 TY-16469
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Left Lower
4806908040

TY-16468N

Suspension Control Arm
Front Right Lower
4806808040

TY-16469N

Suspension Control Arm
Front Left Lower

4806908040

TY-14390
Stabilizer Link
Front

4882008030

2nd Gen

2004-2008

TY-16187N

Suspension Control Arm

Front Right Lower

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

4806806140

info@parsrot.com



—
sy L and

SOLARA

2nd Gen

TOYOTA
2004-2008

TY-16188N

— Suspension Control Arm

TY-14139

Stabilizer Link

1

Front Left Lower Front
4806858010 4882028050
TY-13183
N Axial Joint
! Front
4550339225
SOLARA XV20 1999-2003
| |
TY-14137 TY-14136
Stabilizer Link Stabilizer Link
- 4 Front Left Front Right * .
®- 4881033010 4882033020 —®
| |
TY-13133 TY-14134
Axial Joint Stabilizer Link
_ Front Front Left 4
4550339135 4883033010
| |
_ TY-12131 TY-14140
: u Tie Rod End Stabilizer Link
’ Front Rear ‘——‘
4504629255 4883048010
STARLET P80 1989-1996
| |
TY-13113 TY-13114
Axial Joint Axial Joint
Front Front
M12X1,25-L=287mm 4550319195
4550319195
TY- 11123 TY-11124
Ball Joint Ball Joint
Right Front Left Lower
4333019085 4334019025

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

TOYOTA

STARLET

P80

1989-1996

TY-12121
Pt Tie Rod End

Front
M12x1,25Rht

4504619206

TACOMA

1st Gen

1995-2004

TY-12971
Tie Rod End
Front

4504639285

TY-16978

Suspension Control Arm and Ball Joint
Assembly

Front Right Upper
4861035040

TY-16979

Suspension Control Arm and Ball Joint
Assembly

Front Left Upper
4863035020

1995-2001

TY-13193

Axial Joint

Front
M14X1,5-L=160mm

4550319225

1st Gen

2000-2007

TY-14800

Stabilizer Link

TY-16959

Suspension Control Arm

Suspension Control Arm
Front Right Upper
4861034010

Front Front Left Upper
4882034010 4863034010
TY-16958 TY-16849

Suspension Control Arm
Front Left Lower

4806934020

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

TUNDRA

TOYOTA
1st Gen 2000-2007
——
TY-16848 TY-16489

Suspension Control Arm

Front Right Lower

Suspension Control Arm and Ball Joint
Assembly

Front Left Lower

4806834020
4806934040
TY-16488 TY-11765
Suspension Control Arm and Ball Joint Ball Joint
Assembly
Front Left Lower
Front Right Lower
4334039595
4806834040
TY-11764 TY-12982
Ball Joint Tie Rod End
Front Right Lower Front Left Outer
4333039825 4504739295
TY-12981 TY-13953
Tie Rod End Axial Joint
Front Right Outer Front
4504639465 4550309120
TY- 11775 TY-11774
Ball Joint Ball Joint

Front Left Lower

Front Right Lower

Front Lower

4806909090

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

4334039465 4333039585
TY-11735
Ball Joint
Front Upper
4331039085
TUNDRA 2nd Gen
|
TY-11830 TY-16834
Ball Joint Suspension Control Arm and Ball Joint

Assembly
Front Right Upper
486100C011

2007 after

parsrot.com

51

info@parsrot.com



Rot sy

= Land

TUNDRA

TOYOTA
2nd Gen 2007 after
|
TY-14836 TY-16835
Stabilizer Link Suspension Control Arm and Ball Joint —

Assembly

Front Left
Front Left Upper
488100C010
486300C011
TY-12832 TY-12831
Tie Rod End Tie Rod End
Front Left Front Right
4504709260 4504609560
TY-14837
Stabilizer Link
Front Right
488200C010
1st Gen 2009-2014
|
TY-11285
Ball Joint
Front Left
4334009140
1st Gen 2009-2016
TY-11284 TY-16288
Ball Joint Suspension Control Arm and Ball Joint
Assembly
Front Right
Front Right Lower
4333009780
4806807011
TY-16289 TY-14139
Suspension Control Arm and Ball Joint Stabilizer Link
Assembly
Front
Front Left Lower
4882028050
4806907011
TY-12282 TY-12281
Tie Rod End Tie Rod End
Front Left Front Right
4547009020 4546009180

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

TOYOTA
(P1) 1999-2005
TY-20295 TY-20296
Control Arm Bushing Control Arm Bushing
Center Rear
4806959035 4806959035
TY-11305 TY-14324
Ball Joint Stabilizer Link
Front Lower Front
4330859095 488195201081
TY-16326N TY-16325N

Suspension Control Arm

Front Left Lower

Suspension Control Arm

Front Right Lower

4806959035 4806859035
TY-16329 TY-16328
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Left Lower Front Right Lower
4806959055 4806859055
TY-16326 TY-12322
Suspension Control Arm and Ball Joint Tie Rod End -
Assembly [
Front Left
Front Left Lower
4504759035
4806959035
|
TY-12321 TY-13323
Tie Rod End Axial Joint
Front Right Front Inner _._-=-'
4504659045 4550352010
|
TY-13320
Axial Joint
Front
4550352030

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

53

info@parsrot.com



Rot sy

= [and TOYOTA
YARIS (P13) 2010 after
TY-12331 TY-12332
Tie Rod End Tie Rod End
Front Right Front Left
M14x1.5 M14x1.5
4504659255 4504759135
TY-16338 TY-16338N
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front Right Lower
Front Right Lower
4806809150
4806809150
TY-16339N TY-14336
Suspension Control Arm Stabilizer Link
Front Left Lower Front ‘ _ ‘
4806909140  -=360mm
488200D010
TY-16339 TY-20682
Suspension Control Arm and Ball Joint Control Arm Bushing
Assembly
Rear
Front Left Lower
4806909040
4806909140
TY-20683 TY-11305
Control Arm Bushing Ball Joint

Center Front Lower
4806959055 4330859095
(P9)
TY-11305 TY-20683

Ball Joint Control Arm Bushing
Front Lower Center
4330859095 4806959055
TY-20682 TY-14336
Control Arm Bushing Stabilizer Link
Rear Front

4806909040  L=360mm

488200D010

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

2005-2010

info@parsrot.com



Rot sy

= Land TOYOTA
YARIS (P9) 2005-2010

TY-16339N

Suspension Control Arm

Front Left Lower

TY-16338N

Suspension Control Arm

Front Right Lower

4806909140 4806809150
TY-16338 TY-12332
Suspension Control Arm and Ball Joint Tie Rod End
Assembly
Front Left
Front Right Lower M14x1.5
4806809150 4504759135
TY-13333 TY-12331
Axial Joint Tie Rod End
Front Front Right
M14X1,5-L=239mm M14x1.5
4550352070 4504659255

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

55 info@parsrot.com






